Better Homes ESSENTIALS TALL DINING
& Gardens CHAIRS, SET OF 2

STOCK NUMBER:
O

[J BH2402125171013 (Walnut Finish / Gray Fabric)
[] BH2402125171014 (Walnut Finish / Cream Fabric)
30 minutes approx Adult
assembly time  assembly required

MAXIMUM LOAD
242 LB. (110 KG)

N

b

THIS INSTRUCTION BOOKLET CONTAINS IMPORTANT SAFETY INFORMATION.
PLEASE READ AND KEEP FOR FUTURE REFERENCE.

e If you have any question regarding assembly, please call our toll-free number for assistance.

* DO NOT RETURN THE PRODUCT TO THE STORE, individual stores do not stock parts.
If a part is missing or damaged, please call 1-877-637-3590 or send e-mail to
asprod2015@gmail.com and have your instructions, parts list ready to provide the
model name, part name.

» Parts will be shipped FREE of charge within 90 days of the purchase with proof of purchase.

» Additional parts are available for a fee.

Review your purchases, thank you! NE i
(] BH2402125171013 (Walnut / Gray) e DL | g [ Foronine
o J .TTTN v
[1 BH2402125171014 (Walnut / Cream) %k ok ok ii LERECE Sovee,
Lot Number: Share% your feedback to help other shoppers :b';lr. Elt. ﬁw QR Code
) Link for this product is as below: LY with your

Date Purchased: A www.walmart.com Scanme!  smartphone.
Manufactured By: Saigon Furniture Co.,Ltd. > We are available to assist you Monday - Friday
Dong Nai, Vietnam. d from 9:00 am - 5:00 pm Eastern Standard Time.
TEL: 1-877-637-3590 EMAIL: asprod2015@gmail.com 1-877-637-3590 Page 1/8

V1 - 240422



Better Homes ESSENTIALS TALL DINING
& Gardens CHAIRS, SET OF 2

STOCK NUMBER:

(] BH2402125171013 (Walnut Finish / Gray Fabric)
[ BH2402125171014 (Walnut Finish / Cream Fabric)

Quality Guarantee

Should this product be defective in workmanship, materials or fail under normal use, we will send
replacement parts for up to one (1) year from the date of purchase.

Every Saigon Furniture product is designed to meet your highest expectations. We guarantee that
you will be satisfied with your purchase.

This warranty gives you specific legal rights and you may also have other rights which vary from
State to State.

The warranty applies to Walmart customer who purchased the product from Walmart stores or
Walmart.com with proof of purchase only.

% General Information, Tips & Tricks

¢ Read and understand all the steps carefully before starting.

¢ Please follow the steps in the correct orders to avoid difficulties or damages to the parts during
assembly. If each step is not followed in the correct order the assembly will be difficult and may
result in damages.

* Make sure all the parts are included. Most boards are labeled with a removable sticker.

e Work in a spacious area, preferably on a carpeted surface, near where the unit will be used.

* Please wait until all steps are completed before tightening bolts.

* Please make sure all bolts are tightly fastened before the unit is used.

¢ Looking for online assembly instructions ? you can access the link:
https://lwww.saigon-furniture.com/customer-care

@ Safety and care

* Do not allow children to climb or play on the chair.

e Clean the product with your favorite furniture polish and a soft cloth.
¢ Do not use harsh chemicals or abrasive cleaners.

e Move your new furniture carefully. Never push or drag the unit.

DO NOT USE POWER TOOLS TO ASSEMBLE
YOUR FURNITURE. POWER TOOLS MAY
DAMAGE THE PARTS AND RESULT IN
DAMAGE.

my
Help and support

e If you have any question regarding assembly, please call our toll-free number for assistance.
DO NOT RETURN THE PRODUCT TO THE STORE, individual stores do not stock parts.

If a part is missing or damaged, please call 1-877-637-3590 or send e-mail to
asprod2015@gmail.com and have your instructions, parts list ready to provide the

model name, part name.

Parts will be shipped FREE of charge within 90 days of the purchase with proof of purchase.
Additional parts are available for a fee.

Manufactured By: Saigon Furniture Co.,Ltd. We are available to assist you Monday - Friday
Dong Nai, Vietham. from 9:00 am - 5:00 pm Eastern Standard Time.
TEL: 1-877-637-3590 EMAIL: asprod2015@gmail.com 1-877-637-3590 Page 2/8




Parts and Hardware List

(R Chair Back x2

@ Side Stretcher x4

(oo & )

@ Left Leg x2

Chair Seat x2

\

@ Centre Stretcher x2

=S )

(F) Right Leg x2

(1) @1/4"x80mm Bolt x8

(4) @1/4"x40mm Bolt x8

(¢ 2000000000000

@ @4x45mm Screw x8

)

(2] Lock Washer x20

©

(3] Flat Washer x20

(5] @1/4"x60mm Bolt x8

.l

I

@ Ratchet Wrench x1

Tool required

(=T

=

Crosshead Screwdriver (not provided)

VERIFY THAT ALL PARTS ARE LISTED BEFORE BEGINNING

Page 3/8




Chair Assembly

Align and attach Chair Seat (B) to Chair Back (A) with Bolts (1), (4), Washers (2), (3).
Tighten the Bolts by using Ratchet Wrench (7) provided.

DO NOT USE POWER DRILL / DRIVERS FOR INSERTING
BOLTS AS THIS COULD DAMAGE THE UNIT.
ONLY USE RATCHET WRENCH PROVIDED !

x2 Chairs

@ (2) (3 (4)
R @ @ I

@1/4"x80mm Bolt x4 Lock Washer x6 Flat Washer x6 @1/4"x40mm Bolt x2

Please call for replacement parts or assistance: 1-877-637-3590 Page 4/8
Saigon Furniture Co,. Ltd. 9




Chair Assembly

1. Attach Side Stretcher (C) to Centre Stretcher (D), then the Side Stretchers to the Chair Back.
2. Secure the Stretchers together with Bolts (4). Tighten the Bolts by using the Ratchet Wrench.

x2 Chairs
I
@1/4"x40mm Bolt x2
Please call for replacement parts or assistance: 1-877-637-3590 Page 5/8

Saigon Furniture Co,. Ltd.




Chair Assembly

Secure the Legs and the Chair Seat with Bolts (5), Washers (2), (3).

3 Mount Left Leg (E), Right Leg (F) to the Side Stretchers and the corners of the Chair Seat.
Tighten the Bolts by using the Ratchet Wrench.

x2 Chairs
LA @ @
@1/4"x60mm Bolt x4 Lock Washer x4 Flat Washer x4
Please call for replacement parts or assistance: 1-877-637-3590 Page 6/8

Saigon Furniture Co,. Ltd.




Chair Assembly

1. Flip the installed chair on a Table, then secure the Stretchers to the Legs, Chair Back with
Screws (6). Tighten the Screws by using a Crosshead Screwdriver (not provided).

2. Carefully turn the Chair in an upright position.
Repeat the procedure to assemble the remaining Chair.

R
U
4.2

= x2 Chairs
\\’_’/_>Adjustab/e & Adjust the balance of the Chair

Leveler by adjusting the adjustable leveler.

g

(¢ 2000000000000

@4x45mm Screw x4

Please call for replacement parts or assistance: 1-877-637-3590 Page 7/8
Saigon Furniture Co,. Ltd. 9




STOCK NUMBER: [] BH2402125171013 (Walnut Finish / Gray Fabric)
Replacement Parts ] BH2402125171014 (Walnut Finish / Cream Fabric)

IF YOU NEED TO ORDER ANY PARTS PLEASE USE THE LIST BELOW.

Please email defect photos and proof of purchase to asprod2015@gmail.com

Parts will be shipped FREE of charge within 90 days of the purchase with proof of purchase.
Spare parts and services only support the purchase made from Walmart Store or Walmart.com

@ Chair Back

Chair Seat

@ Side Stretcher

_| @ Centre Stretcher

4]
...f|| @ Left Leg

L (F) Right Leg

N
J

(1] @1/4"x80mm Bolt
@ Lock Washer

@ Flat Washer

(4] @1/4"x40mm Bolt

— (5] @1/4"x60mm Bolt

— @ @4x45mm Screw

Ratchet Wrench

=
O o

(1) (2] (3) (4)
AR @DDDDDDDDW i . m»
—— —

Please call for replacement parts or assistance: 1-877-637-3590
Saigon Furniture Co,. Ltd.




Better Homes  SILLAS DE COMEDOR ALTAS
& Gardens ESSENTIALS, JUEGO DE 2

MODELO # [] BH2402125171013 (Acabado nogal / Tela gris)
@ @

(] BH2402125171014 (Acabado nogal / Tela crema)
30 minutos aprox. Requiere ensamblaje

tiempo de ensamblaje para adultos

CARGA MAXIMA
242 LB. (110 KG)

N

b

ESTE FOLLETO DE INSTRUCCIONES CONTIENE INFORMACION DE SEGURIDAD
IMPORTANTE. POR FAVOR LEAYY CONSERVE PARA FUTURAS CONSULTAS.

« Si tiene alguna pregunta sobre el montaje, llame a nuestro numero gratuito para obtener ayuda.

* NO DEVUELVA EL PRODUCTO A LA TIENDA, las tiendas individuales no almacenan
repuestos. Si falta una pieza o esta dafiada, llame al 1-877 637-3590 o envie un correo
electrénico a asprod2015@gmail.com y tenga listas las instrucciones y la lista de piezas
para proporcionar el nombre del modelo y la pieza.

» Las piezas se enviaran GRATIS dentro de los 90 dias posteriores a la compra con comprobante de compra.

» Hay piezas adicionales disponibles por una tarifa.

. Revisa tus compras, gracias! ini
[ BH2402125171013 (Acabado nogal / Tela gris) ‘Af grecas” . Para servicio
] BH2402125171014 (Acabado nogal / Tela crema) * ok ok ok ii o g'l’ecg df?sgag‘;f
. j
Numero de lote: Comparta sus comentarios para ayudar a B con Sug
. otros compradores. El enlace para este e feléfono
Fecha de compra: — producto es el siguiente: www.walmart.com Escanéame | inteligente.
Fabricado por: Saigon Furniture Co., Ltd. Estamos disponibles para ayudarle de lunes a viernes
Dong Nai, Vietnam. g de 9:00 a. m. a 5:00 p. m., hora estandar del este.
TEL: 1-877-637-3590 EMAIL: asprod2015@gmail.com 1-877-637-3590 Pagina 1/8

V1 - 240422



Better Homes  SILLAS DE COMEDOR ALTAS
& Gardens ESSENTIALS, JUEGO DE 2

MODELO # [] BH2402125171013 (Acabado nogal / Tela gris)
(] BH2402125171014 (Acabado nogal / Tela crema)

Garantia de calidad

Si este producto tiene defectos de mano de obra, materiales o falla en condiciones de uso normal,
le enviaremos piezas de repuesto por hasta un (1) afio a partir de la fecha de compra.

Cada producto de Saigon Furniture esta disefiado para satisfacer sus mas altas expectativas.

Le garantizamos que quedara satisfecho con su compra.

Esta garantia le otorga derechos legales especificos y es posible que también tenga otros derechos
que varian de un estado a otro.

La garantia se aplica a los clientes de Walmart que compraron el producto en las tiendas Walmart
o en Walmart.com unicamente con un comprobante de compra.

/ Informacion General Y Recomendaciones De Uso

* Lea y comprenda todos los pasos detenidamente antes de comenzar.

¢ Siga los pasos en el orden correcto para evitar dificultades o danos a las piezas durante el montaje.
Si no se siguen cada paso en el orden correcto, el montaje sera dificil y puede provocar dafos.

e Asegurese de que todas las piezas estén incluidas. La mayoria de los tableros estan etiquetados
con una pegatina removible.

e Trabaje en un area espaciosa, preferiblemente sobre una superficie alfombrada, cerca de
donde se utilizara la unidad.

® Espere hasta que se completen todos los pasos antes de apretar los pernos.

* Asegurese de que todos los pernos estén bien apretados antes de utilizar la unidad.

e Busca instrucciones de montaje en linea? puedes acceder al enlace:
https://lwww.saigon-furniture.com/customer-care

@ Seguridad y cuidado

* No permita que los nifios trepen o jueguen en la silla.

e Limpia el producto con tu cera para muebles favorita y un pafio suave.

¢ No utilice productos quimicos agresivos ni limpiadores abrasivos.

e Mueva sus muebles nuevos con cuidado. Nunca empuje ni arrastre la unidad.

NO UTILICE HERRAMIENTAS ELECTRICAS
PARA MONTAR SUS MUEBLES.

LAS HERRAMIENTAS ELECTRICAS PUEDEN
DANAR LAS PIEZAS Y OCASIONAR DANOS.

Ayuda y apoyo

¢ Si tiene alguna pregunta sobre el montaje, llame a nuestro numero gratuito para obtener ayuda.

* NO DEVUELVA EL PRODUCTO A LA TIENDA, las tiendas individuales no almacenan repuestos.

e Si falta una pieza o esta danada, llame al 1-877-637-3590 o envie un correo electrénico a
asprod2015@gmail.com y tenga a mano sus instrucciones y la lista de piezas para proporcionar
el nombre del modelo y el nombre de la pieza.

e Las piezas se enviaran GRATIS dentro de los 90 dias posteriores a la compra con
comprobante de compra.

e Hay piezas adicionales disponibles por una tarifa.

Fabricado por: Saigon Furniture Co., Ltd. > Estamos disponibles para ayudarle de lunes a viernes
Dong Nai, Vietham. de 9:00 a. m. a 5:00 p. m., hora estandar del este.
TEL: 1-877-637-3590 EMAIL: asprod2015@gmail.com 1-877-637-3590 Pagina 2/8




Lista de piezas y hardware

@ Respaldo de silla x2

@ Camilla lateral x4

(oo & )

@ Pierna izquierda x2

Asiento de silla x2

\

@ Camilla central x2

=S )

@ Pierna derecha x2

[i] Perno @1/4"x80mm x8

@ Perno @1/4"x40mm x8

(¢ 2000000000000

(6] Tornillo @4x45mm x8

® (©)

@ Arandela de seguridad x20 @ Arandela plana x20

@ Perno @1/4"x60mm x8

.l

L

(7] Liave de trinquete x1

Herramienta requerida

@K@ =  Destornillador de estrella (no incluido)

VERIFICAR QUE TODAS LAS PIEZAS ESTEN LISTADAS ANTES DE COMENZAR Pagina 3/8




Asamblea de la silla

Alinee vy fije el asiento de la silla (B) al respaldo de la silla (A) con pernos (1), (4) y arandelas (2),
(3). Apriete los pernos usando la llave de trinquete (7) proporcionada.

NO UTILICE TALADROS ELECTRICOS O DESTORNILLADORES PARA
INSERTAR PERNOS YA QUE ESTO PODRIA DANAR LA UNIDAD.
jUSE SOLO LA LLAVE DE TRINQUETE PROPORCIONADA!

x2 Sillas

() (3 (4)

Perno @1/4"x80mm x4 Arandela de sequridad x6 ~ Arandela plana x6 Perno @1/4"x40mm x2

Por favor llame por re-emplazo de partes o asistencia: 1-877-637-3590 Pagina 4/8
Saigon Furniture Co,. Ltd.




Asamblea de la silla

de la silla.

2 1. Conecte el soporte lateral (C) al soporte central (D), luego los soportes laterales al respaldo
2. Asegure las Camillas junto con los Pernos (4). Apriete los pernos usando la llave de trinquete.

x2 Sillas

Perno @1/4"x40mm x2

Por favor llame por re-emplazo de partes o asistencia: 1-877-637-3590

Pagina 5/8
Saigon Furniture Co,. Ltd. agina




Asamblea de la silla

del asiento de la silla. Asegure las Patas y el Asiento de la Silla con Pernos (5),

3 Monte la pata izquierda (E) y la pata derecha (F) en los bastidores laterales y en las esquinas
Arandelas (2), (3). Apriete los pernos usando la llave de trinquete.

x2 Sillas

(8

2 3
lI|l|||I|||||||||||l|||||I|||||l|||||||||||||||l|||||l|||||||||||||||l|||||||||||||||||||||l|||||||||||I||| @ @

Perno @1/4"x60mm x4 Arandela de seguridad x4 Arandela plana x4

Por favor llame por re-emplazo de partes o asistencia: 1-877-637-3590 o
Saigon Furniture Co,. Ltd. Pagina 6/8




Asamblea de la silla

1. Voltee la silla instalada sobre una mesa, luego fije los bastidores a las patas y al respaldo de
la silla con tornillos (6). Apriete los tornillos utilizando un destornillador de estrella (no incluido).
2. Gire con cuidado la silla hasta colocarla en posicion vertical.

Repita el procedimiento para ensamblar la silla restante.

&y

x2 Sillas
x4 \N'Ve’ad"f Ajuste el equilibrio de Ia silla
\/ ajustable

ajustando el nivelador ajustable.

g

(¢ 2000000000000

Tornillo @4x45mm x4

Por favor llame por re-emplazo de partes o asistencia: 1-877-637-3590 o
Saigon Furniture Co,. Ltd. Pagina 7/8




. Modelo #: [] BH2402125171013 (Acabado nogal / Tela gris)
Piezas de repuesto ] BH2402125171014 (Acabado nogal / Tela crema)

SI NECESITA PEDIR ALGUNA PIEZA, UTILICE LA LISTA A CONTINUACION.

Envie por correo electrénico fotografias de defectos y comprobante de compra a asprod2015@gmail.com
Las piezas se enviaran GRATIS dentro de los 90 dias posteriores a la compra con comprobante de compra.
Los repuestos y servicios solo respaldan la compra realizada en Walmart Store o Walmart.com

@ Respaldo de la silla

Asiento de silla

@ Camilla lateral

@ Camilla central

n
..|f|l (E) Pierna izquierda
o

@ Pierna derecha

e N
@ Perno @1/4"x80mm

@ Arandela de seguridad

@ Arandela plana

@ Perno @1/4"x40mm

— @ Perno @1/4"x60mm

— @ Tornillo @4x45mm

Llave de trinquete

N Hardware 1%

@

(1]

gmm ﬁg%

(5]

Por favor llame por re-emplazo de partes o asistencia: 1-877-637-3590
Saigon Furniture Co,. Ltd.

Pagina 8/8




